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Green ON OFF OFF
Amber OFF ON OFF
Red OFF OFF ON
Red _Amber | ON ON OFF
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Present state MNext state MNext state

State name | Current Q outputs | Current D inputs | Current D inputs

Q1 Qo D1 DO D1 DO

Gireen 0 0 0 O O 1
Amber 0 1 1 0 1 0
Red 1 0 1 1 1 1
Red_Amber 1 1 0 0 0 0

D1 = (Q1 & Q0) D0 =Y.(Q1.Q0) + (Y.QO0)
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Data In =0 Data_In =1
Present state MNext state MNext state
State O State 0 State 1
Starce 1 Scare 1 Scate 2
State 2 Starte 3 Scate 1
Stare 3 State O State 4
State 4 State O Srtate

G2y Q2,Q1,Q0 laidd ey EME AU sed) AR saey dceadd) VAl Jaa 5 (S

State Q2 o1 Qo
Scatrte O 0 0 0
Scate 1 QO 0 1

Scate 2 O 1 O
Scate 3 0 1 1

Scate <4 1 8] L]
Unused states

Scate 5 1 O 1

State & 1 1 L]
State 7 1 1 1
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Data in J3a Sl cacea A55EN SUSIAY Allal) J gaa

Data_In = 0 Data_In = 1

Present state MNMext state Mext state
Starte name Current QQ ourpurs Current D inpurs Current D inpurs

Q2 Q1 QO D2 D1 DO D2 D1 DO
State O 0 0 0 0 0 0 0 0 1 —
State 1 0 0 1 0 1 0 z 0 (0] 1
State 2 O 1 L] 0 1 1 0 L] 1
State 3 O 1 1 0 0 0 1 (] 0O A—
State 4 1 0 0 0 0 0 O 0 1 -
Unused states
State 5 1 0 1 0 0 0 ] 0 0
Srare 6 1 1 O 0 0 O O 0 0O
State 7 1 1 1 0 0 0 0 (0] 0
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D2 = Data Tn. (Q2.01.0Q0) D1 = Data Tn.0Q2. (Ql1 @ Q0)

DO = Data_In. (Q2.01.Q0) + Data_In.((Q2.Q1l) + (Q1.Q0))
Jﬁﬂﬁhlldjd;}ééj@iﬂﬁﬁldmhﬁ

State Q2 Q1 QO Detected
State O 0 0 0 0
State 1 0 0 1 0
State 2 0 1 0 0
State 3 0 1 1 0
State 4 1 0 0 1
Unused states

State S 1 0 1 0
State 6 1 1 0 0
State 7 1 1 1 0

Detected = (02.01.00) :Detected &Sl dbe il dlle eliyg
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